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(Operation Maths : Teachers Resource Book

in a sale. What is the cost of the TV
now?

Estimate:

A plano that was on sale for €4,000 is
now discounted by 25%. What is the
price of the piano now?

Estimate:

. A baby elephant that weighed 88 kg

at birth has increased its weight by
25%. What is ts current weight?

Estimate:

. A bicycle that cost €900 has now been,

reduced by 20%. What is the cost of
the bicycle now?

Estimate:

. A brand of washing liquid that usually

contains | litre now has 20% extra
free. What i the capacity of the new
bottle?

Estimate:
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